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101|R#A7 L 263 129 134 Kg |B)I 1,296 378|% )1l 2,700 1,296
102|357 L 2,594 2,594| Kg FIE 1,566 756
111|&EEF £ 342 36 306 Kg |ERE 1,080 432|18E - &4 1,728 77
113|RAV S 22 22| Kg |&) 810 215| 15 2,700 2,160
114|B5EFE 162 162| Kg BRE - &E 2,700 1,080
121|pblE & 14 9 5| Kg |EE 1,944 432| & 1,728 432
134[#= = 258 199 59| Kg |ERS - =4 2,700 216| 5 4,320 1,944
137|&5E.3. < 516 392 124| Kg |BER 4,860 648| BER 7,062 3,240
138|HA % 2 42 42| Kg R 1,080
140(5 I 13 13| Kg b 44,064 13,500
147|E2 O 99 99| Kg i 8,100 4,000
158|&TEN A IEH 234 234 Kg BIE 2,106 1,080
201|{Lb L 1,180 1,180 Kg T 486 135
203|/hé L 43 43| Kg 3= 324 180
205|585 L 90 90| Kg KI5 486 395
206| = 1F 353 353| Kg BER 821 287
212|&5E.3 Y 728 728| Kg El - BERE 1,998 324
251|< £ <3 651 170 481 Kg |FE 5,940 = 3,996 3,024
254|EDRECH 792 792|  Kg T 2,484 1,058
306 & & Y 3 3| Ke L 1,188
315|7=b 5 76 76 Ke |k% 675
319|&h 5 204 130 74| Kg |EIE 1,296 1,242| KI5 1,296 656
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332|= 13 WA =EF 195 195 Kg bF 3,024 2,052
351(4EH 5 5 Kg [3&E 3,024

35411FxE<Y 85 85 Kg FIE 1,944 1,134
355(mp Y 110 10 100 Kg [FE 756 A - BE 1,728 600
356(L L& 20 20 Kg SR 1,080

357|7RE 30 30 Kg FEE 1,944 1,148
362(H & 324 324 Kg IN= 3,456 360
4025 & 5 5 Kg [ 4,536
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507|@— L Ly 10 10| Kg =] 810
512| A A L 85 85| Kg b 1,450 950
523|AEAAT 2 O 1,052 1,052| Kg Mh 3,456 473
54| AEE E XV 80 80| Kg =] 1,782 1,500
558| 84 84| Kg b 1,296 702
560|487 2 295 295| Kg =] 3,100 1,450
566|4R A < 22 22| Kg b 4,000 950
5764 X 1F 140 140 Kg B - A 1,836 980
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70110 BA 36 36| Kg FJE 1,674 1,653
709|Lb LALF 242 2421 Kg TFE 972 525
710(2 2 AT 672 672 Kg =G - BES 1,350 162
BlEFAI L 7 71 Kg EE 1,192
755|FH&» C 272 2721 Kg EE 771 710
759|555 EE L 18 18 Kg =, 1,260
76713725 W\ H 63 63| Kg FJE 1,980 1,800
B01[IBAL = 1S 270 270 Kg tmE - mA 2,700 540
805 = 1E 176 176] Kg bF 972 691
810|BAKTF 88 88| Kg JbiF 2,835 2,376
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